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CÎma àXoe AYrZñW godm M`Z Am`moJ, bIZD$ 
{dkmnZ g§»`m-01-narjm/2025 

àmapå^H$ Ah©Vm narjm (PET)-2025   
CÎma H§w$Or (_mñQ>a goQ>) 

narjm {V{W : 06-09-2025  nmbr : àW_ 

 

1. Omo {deofU AnZo {deoî` H$s _mÌm `m n{a_mU Ho$ {df` _| kmZ H$amE±, Cgo ______ {deofU H$hVo h¢ & 

n[a_mUdmMH$ 

2. ‘g_` H$s nhMmZ’ {g`mam_eaU JwßV Or H$s H${dVm h¡, {Og_| do ______ Ho$ _hËd Ho$ ~mao _| ~VmVo h¢ & 

g_` 

3. ‘AmXmZ’ H$m {dbmo_ eãX ______ h¡ & 

àXmZ 

4. ‘M¡V’ VX²^d eãX h¡, CgH$m VËg_ eãX ______ h¡ & 

M¡Ì 

5. ‘Am±I| {XImZm’ _whmdao H$m ghr AW© h¡  

Jwñgo _| XoIZm 

 {ZX}e (à. g§. 6  go  à. g§. 10) : {ZåZ{b{IV JÚm§e H$mo n‹T>H$a nyN>o JE àíZm| Ho$ CÎma Xr{OE & 

_¢ H$^r-H$^r gmoMVm hÿ± {H$ BVZo {XZm| VH$ A§J«oOm| H$s AZwd{V©Vm H$aZo Ho$ ~mX ^r ^maVdf© ‘BpÊS>noÊS>oÝg’ H$mo 
AZYrZVm Š`m| Zht H$h gH$m ? CgZo AnZr AmOmXr Ho$ {OVZo ^r Zm_H$aU {H$`o - ñdVÝÌVm, ñdamÁ`, ñdmYrZVm- 
CZ g~ _| ‘ñd’ H$m ~ÝYZ Adí` aIm & `h Š`m g§`moJ H$s ~mV h¡ `m h_mar g_yMr naånam hr AZOmZ _|, h_mar 
^mfm Ho$ Ûmam àH$Q> hmoVr ahr h¡ ? _wPo àm{U-{dkmZr H$s ~mV {\$a `mX AmVr h¡ - ghOmV d¥{Îm AZOmZr ñ_¥{V`m| 
H$m hr Zm_ h¡ & ñdamO hmoZo Ho$ ~mX ñd^mdV: hr h_mao ZoVm Am¡a {dMmaerb ZmJ{aH$ gmoMZo bJo h¢ {H$ Bg Xoe H$mo 
gƒo AW© _| gwIr H¡$go ~Zm`m Om` & h_mao Xoe Ho$ bmoJ nhbr ~ma `h g~ gmoMZo bJo hm|, Eogr ~mV Zht h¡ & h_mam 
B{Vhmg ~hþV nwamZm h¡, h_mao emñÌm| _| Bg g_ñ`m H$mo ZmZm ^mdm| Am¡a ZmZm nhbwAm| go {dMmam J`m h¡ & h_ H$moB© 
Zm¡{gIwE Zht h¢, Omo amVm|-amV AZOmZ O§Jb _| nhþ±MmH$a Aa{jV N>mo‹S> {X`o J`o hm| & h_mar naånam _{h_m_`r, 
CÎmam{YH$ma {dnwb Am¡a g§ñH$ma CÁÁdb h¡ & h_mao AZOmZ _| ^r `o ~mV| h_| EH$ Img {Xem _| gmoMZo H$s àoaUm XoVr 
h¢ & `h Oê$a h¡ {H$ n{apñW{V`m± ~Xb J`r h¢& CnH$aU Z`o hmo J`o h¢ Am¡a CbPZm| H$s _m`m ^r ~hþV ~‹T> J`r h¡, 
na _yb g_ñ`mE± ~hþV A{YH$ Zht ~Xbr h¢ & ^maVr` {MÎm Omo AmO ^r ‘AZYrZVm’ Ho$ ê$n _| Z gmoMH$a 

‘ñdmYrZVm’ Ho$ ê$n _| gmoMVm h¡, dh h_mao XrK©H$mbrZ g§ñH$mam| H$m \$b h¡ & dh ‘ñd’ Ho$ ~ÝYZ H$mo AmgmZr go Zht  
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N>mo‹S> gH$Vm & AnZo-Amn na AnZo-Amn Ho$ Ûmam bJm`m hþAm ~ÝYZ h_mar g§ñH¥${V H$s ~S>r ^mar {deofVm h¡ & _¢ 
Eogm Vmo Zht _mZVm {H$ Omo Hw$N> h_mam nwamZm h¡, Omo Hw$N> h_mam {deof h¡, Cggo h_ {MnQ>o hr ah| & nwamZo H$m ‘_moh’ 
g~ g_` dmÄN>Zr` hr Zht hmoVm & _ao ~ÀMo H$mo JmoX _| X~m ò ahZodmbr ‘~±X{a`m’ _Zwî` H$m AmXe© Zht ~Z gH$Vr & 
naÝVw _¢ Eogm ^r Zht gmoM gH$Vm {H$ h_ Z`r AZwgpÝYËgm Ho$ Zeo _| Mya hmoH$a AnZm ga~g Imo Xo & H$m{bXmg Zo 
H$hm Wm {H$ g~ nwamZo AÀN>o hr Zht hmoVo, g~ Z ò Iam~ hr Zht hmoVo & 

6. boIH$Or H$^r-H$^r Š`m gmoMZo bJVo h¡§ ? 

A§J«oOm| H$s AZwd{V©Vm H$aZo Ho$ ~mX ^r ^maVdf© ‘BpÊS>noÊS>oÝg’ H$mo AZYrZVm Š`m| Zht H$h gH$m ? 

7. _Zwî` Zo AnZr AmOmXr Ho$ {OVZo ^r Zm_H$aU {H$`o ñdV§ÌVm, ñdamÁ`, ñdmYrZVm-CZ g~ _| _____ H$m ~§YZ 
Adí` aIm & 

ñd 

8. boIH$Or H$mo àm{U-{dkm{Z`m| H$s H$m¡Z-gr ~mV `mX AmVr h¡ ? 

ghOmV d¥{Îm AZOmZr ñ_¥{V`m| H$m hr Zm_ h¡ & 

9. H$m{bXmg Zo Š`m H$hm Wm ? 

g~ nwamZo AÀN>o hr Zht hmoVo, g~ Z ò Iam~ hr Zht hmoVo & 

10. _ao ~ÀMo H$mo JmoX _| X~m`o ahZodmbr _______Zwî` H$m AmXe© Zht ~Z gH$Vr & 

~±X{a`m 

 {ZX}e (à. g§. 11 go  à. g§. 15) : {ZåZ{b{IV JÚm§e H$mo n‹T>H$a nyN>o JE àíZm| Ho$ CÎma Xr{OE & 

Xw:I H$s loUr _| àd¥{Îm Ho$ {dMma go H$éUm H$m CëQ>m H«$moY h¡ & H«$moY {OgHo$ à{V CËnÞ hmoVm h¡ CgH$s hm{Z H$s 
MoîQ>m H$s OmVr h¡ & H$éUm {OgHo$ à{V CËnÞ hmoVr h¡ CgH$s ^bmB© H$m CÚmoJ {H$`m OmVm h¡ & {H$gr na àgÞ hmoH$a 
^r bmoJ CgH$s ^bmB© H$aVo h¢ & Bg àH$ma nmÌ H$s ^bmB© H$s CÎmoOZm Xw:I Am¡a AmZÝX XmoZm| H$s lo{U`m| _| aIr JB© 
h¡ & AmZÝX H$s loUr _o§ Eogm H$moB© ewÕ _Zmo{dH$ma Zht h¡ Omo nmÌ H$s hm{Z H$s CÎmoOZm H$ao, na Xw:I H$s loUr _| Eogm 
_Zmo{dH$ma h¡ Omo nmÌ H$s ^bmB© H$s CÎmoOZm H$aVm h¡ & bmo^ go, {Ogo _¢Zo AmZÝX H$s loUr _| aIm h¡, Mmho H$^r 
H$^r Am¡a ì`pŠV`m| `m dñVwAm| H$mo hm{Z nhþ±M Om` na {Ogo {Og ì`pŠV `m dñVw H$m bmo^ hmoJm, CgH$s hm{Z dh 
H$^r Zht H$aoJm & bmo^r _h_yX Zo gmo_ZmW H$mo Vmo‹S>m; na ^rVa go Omo OdmhamV {ZH$bo CZH$mo Iy~ g±^mbH$a aIm & 
ZyaOhm± Ho$ ê$n Ho$ bmo^r Ohm±Jra Zo eoa A\$amZ H$mo _adm`m na ZyaOhm± H$mo ~‹S>o M¡Z go aIm &  

D$na H$hm Om MwH$m h¡ {H$ _Zwî` Á`m| hr g_mO _| àdoe H$aVm h¡, CgHo$ gwI Am¡a Xw:I H$m ~hþV-gm A§e Xygam| H$s 
{H«$`m `m AdñWm na Adbpå~V hmo OmVm h¡ Am¡a CgHo$ _Zmo{dH$mam| Ho$ àdmh VWm OrdZ Ho$ {dñVma Ho$ {bE A{YH$ 
joÌ hmo OmVm h¡ & dh Xygam| Ho$ Xw:I go XwIr Am¡a Xygam| Ho$ gwI go gwIr hmoZo bJVm h¡ & A~ XoIZm `h h¡ {H$ Xygam| 
Ho$ Xw:I go XwIr hmoZo H$m {Z`_ {OVZm ì`mnH$ h¡ Š`m CVZm hr Xygam| Ho$ gwI go gwIr hmoZo H$m ^r & {H$gr XwIr _Zwî` 
H$mo gm_Zo XoI h_ AnZm XwIr hmoZm V~ VH$ Ho$ {bE ~ÝX Zht aIVo O~ VH$ {H$ `h Z _mby_ hmo Om` {H$ dh H$m¡Z 
h¡, H$hm± ahVm h¡ Am¡a H¡$gm h¡; `h Am¡a ~mV h¡ {H$ `h OmZH$a {H$ {Ogo nr‹S>m nhþ±M ahr h¡ CgZo H$moB© ^mar AnamY 
`m AË`mMma {H$`m h¡ h_mar X`m Xya `m H$_ hmo Om` & Eogo Adga na h_mao Ü`mZ Ho$ gm_Zo dh AnamY `m AË`mMma 
Am OmVm h¡ Am¡a Cg AnamYr `m AË`mMmar H$m dÎm©_mZ Šboe h_mao H«$moY H$s VwpîQ> H$m gmYH$ hmo OmVm h¡ & 

gmam§e `h {H$ H$éUm H$s àmpßV Ho$ {bE nmÌ _| Xw:I Ho$ A{V{aº$ Am¡a {H$gr {deofVm H$s Anojm Zht &  
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11. Xw:I H$s loUr _| àd¥{Îm Ho$ {dMma go H$éUm H$m CëQ>m Š`m hmo gH$Vm h¡ ? 

H«$moY 

12. H$éUm {OgHo$ à{V CËnÞ hmoVr h¡, CgHo$ {bE Š`m {H$`m OmVm h¡ ? 

CgH$s ^bmB© H$m CÚmoJ {H$`m OmVm h¡ & 

13. {H$gr na àgÞ hmoH$a ^r bmoJ CgH$s ^bmB© H$aVo h¢ & Bg àH$ma nmÌ H$s ^bmB© H$s CÎmoOZm {H$Z lo{U`m| _| aIr 
OmVr h¡ ? 

Xw:I Am¡a AmZÝX XmoZm| H$s 

14. AmZ§X H$s loUr _| Eogm H$moB© ewÕ _Zmo{dH$ma Zht h¡ Omo nmÌ H$s hm{Z H$s CÎmoOZm H$ao, na Xw:I H$s loUr _| Eogm 
_Zmo{dH$ma h¡ Omo nmÌ H$s _____ H$s CÎmoOZm H$aVm h¡ & 

^bmB© 

15. {H$gH$s àmpßV Ho$ {bE nmÌ _| Xw:I Ho$ A{V{aŠV Am¡a {H$gr {deofVm H$s Anojm Zht hmoVr h¡ ? 

H$éUm 

16. _hmdra Zo {ZåZ{b{IV _| go {H$g ñWmZ na _moj àmßV {H$`m ({gÕ ~Zo) ? 

nmdmnwar  

Mahavira attained moksha (became a Siddha) at which of the following places ? 

Pavapuri  

17. nwéf gyŠV, Omo Mma dUm] H$s CËn{Îm H$s ì`m»`m H$aVm h¡, {H$g d¡{XH$ J«§W _| nm`m OmVm h¡ ? 

F$½doX   

The Purusha Sukta, which explains the origin of the four Varnas, is found in which Vedic text ? 

Rig Veda  

18. h‹S>ßnm gä`Vm {H$g `wJ go g§~§{YV h¡ ? 

H$m§ñ` `wJ   

The Harappan Civilization belongs to which age ? 

Bronze Age 

 

19. ~wÕ Zo {H$g C_« _| n[a{Zã~mU (A§{V_ _wpŠV) àmßV H$s ? 

80 df© 

At what age did the Buddha attain Parinibbana (final liberation) ? 

80 years 
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20. Am{X nwamU {H$g VrWªH$a H$s g§VM{aV g§J«h h¡ ? 

Am{XZmW 

The Adi Purana, is the hagiography of which Tirthankara ? 

Adinatha 

21. ~§Jmb {~«{Q>e B§{S>`m gmogmBQ>r H$s ñWmnZm H$~ hþB© Wr ? 

20 Aà¡b, 1843 

The Bengal British India Society was established on   

20 April, 1843  

22. b§XZ _| B©ñQ> B§{S>`Z Egmo{gEeZ H$s ñWmnZm {H$gHo$ Ûmam H$s JB© Wr ? 

XmXm^mB© Zm¡amoOr 

East Indian Association in London was founded by 

Dadabhai Naoroji 

23. {eH$mJmo _| Y_© g§gX H$m Am`moOZ {H$g df© hþAm ?  

1893  

The Parliament of Religions held at Chicago in which year ? 

1893 

24. AZwerbZ g{_{V H$m _w»`mb` H$hm± h¡ ? 

H$bH$Îmm   

The headquarter of Anushilan Samiti is at 

Calcutta  

25. ^maV Ho$ {d^mOZ H$mo {~«{Q>e gaH$ma Ûmam ñdrH$ma {H$E OmZo H$s KmofUm {H$gZo H$s Wr ? 

bm°S>© _mC§Q>~¡Q>Z>  

Who announced the British Government’s acceptance of the partition of India ? 

Lord Mountbatten 

26. {díd H$s g~go b§~r ZXr H$m¡Z-gr h¡ ? 

ZmBb 

The longest river in the world is 

Nile 
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27. {ZåZ ^yOb ^§S>maU go {H$g àH$ma H$s MÅ>mZ g§aMZm g~go A{YH$ Ow‹S>r hþB© h¡ ? 

Am½Zo` Am¡a H$m`m§V[aV MÅ>mZ| 

Which type of rock formation is most commonly associated with low groundwater storage ? 

Igneous and metamorphic rocks 

28. D±$Q> AnZo ________ _| dgm O_m H$aVm h¡ & 

hån 

The camel stores fat in its 

Hump 

29. ^maV Ho$ npíM_ _| H$m¡Z-gm gmJa pñWV h¡ ? 

 Aa~ gmJa 

Which sea lies to the west of India ? 

Arabian Sea 

30. DTM Ho$ {H$g MaU _| g~go VoµO OZg§»`m d¥{Õ XoIr OmVr h¡ ? 

MaU 2 

Which stage of the DTM sees the fastest population growth ? 

Stage 2 

31. A{dH${gV AW©ì`dñWm H$m AW© Wm 

do Xoe Ohm± à{V ì`pŠV dmñV{dH$ Am` H$_ h¡  

Meaning of the underdeveloped economy was  

Countries in which per capita real income is low 

32. H$m_ Ho$ ~Xbo AZmO H$m`©H«$_ H$m nwZJ©R>Z {H$`m J`m Am¡a AŠQy>~a 1980 go BgH$m Zm_ ~XbH$a _______ H$a 
{X`m J`m & 

amîQ´>r` J«m_rU amoµOJma H$m`©H«$_ 

The food for work programme was restructured and renamed as _______ from October, 1980. 

National Rural Employment Programme 

33. AW©ì`dñWm Ho$ A{Yeof H$mo A§{V_ Cn`moJH$Vm©Am| VH$ nhþ±MmZo Am¡a ñWmZm§V[aV H$aZo Ho$ {bE {ZåZ{b{IV _| go 
H$m¡Z-gm _mÜ`_ H$m`© H$aVm h¡ ? 

{dÎmr` g§ñWmZ 

Which of the following acts as a vehicle for mobilising and transferring the economy’s surplus 

to the ultimate users ? 

Financial institutions 
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34. {H$g Am¡Úmo{JH$ Zr{V àñVmd Zo gmd©O{ZH$ joÌ H$mo ^maVr` AW©ì`dñWm _| EH$ aUZr{VH$ ^y{_H$m àXmZ H$s ? 

Am¡Úmo{JH$ Zr{V àñVmd 1956 

Which Industrial Policy Resolution gave the public sector a strategic role in the Indian 

economy ? 

Industrial Policy Resolution 1956 

35. EH$ gm_m{OH$ KQ>Zm {Og_| g_mO H$m EH$ dJ© AnZo OrdZ H$s _yb^yV Amdí`H$VmAm| H$mo ^r nyam H$aZo _| Ag_W© 
hmoVm h¡, Cgo _______ H$hm OmVm h¡ & 

Jar~r 

A social phenomenon in which a section of the society is unable to fulfil even its basic 

necessities of life is called as 

Poverty    

36. _________ àíZ dh h¡ {OgH$m H$moB© gXñ` gXZ _| _m¡{IH$ CÎma MmhVm h¡ Am¡a {Ogo Vmam§{H$V {M• Ûmam nhMmZm 
OmVm h¡ & 

Vmam§{H$V 

________ question is one to which a member desire an oral answer in the house and which is 

distinguished by an asterisk mark. 

Starred    

37. Xoe Ho$ n`m©daU H$m g§ajU Am¡a gwYma VWm dZm| Am¡a dÝ` OrdZ H$s gwajm, _______ Ho$ A§VJ©V AmVr h¡ & 

AZwÀN>oX 48A 

Protection and improvement of environment and safeguarding of forests and wildlife of the 

country comes under 

Article 48A 

38. ^maV H$m g§{dYmZ nhbr ~ma 1928 _| _______ Ûmam V¡`ma {H$`m J`m Wm & 

_moVrbmb Zohê$ 

The Constitution of India was first drafted by ________ in 1928. 

Motilal Nehru 

39. _________ ~mø Ed§ Am§V[aH$ AmnmVH$mb Ho$ Xm¡amZ bmJy hmoVm h¡ & 

AZwÀN>oX 359 

________ is applicable during external as well as internal emergency. 

Article 359 

40. ^maV Ho$ ________ amÁ`g^m Ho$ nXoZ AÜ`j h¢ & 

CnamîQ´>n{V  

__________ of India is Ex-officio Chairperson of Rajya Sabha. 

Vice-President 
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41. {Zdm©V _| àH$me H$s J{V Am¡a _mÜ`_ _| àH$me H$s J{V Ho$ AZwnmV H$mo _mÜ`_ H$m _________ H$hm OmVm h¡ & 

AndV©Zm§H$ 

The ratio of speed of light in vacuum to the speed of light in a medium is called the _________ 

of the medium. 

Refractive index  

42. `{X +4 D epŠV H$m EH$ CÎmb b§og Am¡a –10 D epŠV H$m EH$ AdVb b|g EH$ Xygao Ho$ g§nH©$ _| aIm OmVm h¡, 
n[aUm_r epŠV Š`m hmoJr ? 

– 6 D 

If a convex lens of power +4 D and a concave lens of power –10 D are placed in contact with 

each other, what will be the resultant power ? 

– 6 D 

43. E{gS> H$mo {H$g nXmW© go ~Zo ~V©Zm| _| g§J«{hV {H$`m OmVm h¡ ? 

H$m§M Am¡a {ga¡{_H$ 

Acids are stored in containers made of which materials ? 

Glass and ceramics 

44. hdm go H$m¡Z-gr Aåbr` J¡g dfm© Ho$ nmZr _| KwbH$a H$m~m}{ZH$ E{gS> (H2CO3) ~ZmVr h¡ ? 

H$m~©Z S>mBAm°ŠgmBS> (CO2) 

Which acidic gas from the air dissolves in rainwater to form carbonic acid (H2CO3) ? 

Carbon dioxide (CO2)  

45. Jw‹S>hb Ho$ nm¡Yo H$m \y$b h¡ 

C^`{b§Jr   

The flower of the Hibiscus plant is 

bisexual  

46. 
2

5
 à{VeV ê$n _| Š`m h¡ ? 

40% 

2

5
 in percent form is 

40% 
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47. `{X x Am¡a y gh-A^mÁ` h¢, Vmo CZH$m LCM Š`m h¡ ? 

xy 

If x and y are co-primes, then their LCM is 

xy 

48. g~go ~‹S>r 3 A§H$m| H$s g§»`m Am¡a g~go N>moQ>r 2 A§H$m| H$s g§»`m Ho$ ~rM H$m A§Va Š`m h¡ ? 

989 

The difference between the largest 3 digit number and smallest 2 digit number is  

989 

49. `{X 2994 ÷ 14.5 = 172 h¡, Vmo 29.94 ÷ 1.45 = 

17.2  

If 2994 ÷ 14.5 = 172, then 29.94 ÷ 1.45 = 

17.2 

50. H$m¡Z-gm ~‹S>m h¡ : 45   `m 49 1−  ? 

45    

Which is greater : 45  or 49 1−  ? 

45
 

51. EH$ nwéf H$m n[aM` XoVo hþE, EH$ _{hbm Zo H$hm “CgH$s _m± _oao {nVm H$s BH$bm¡Vr ~oQ>r h¡ &” nwéf H$m _{hbm go Š`m 
g§~§Y h¡ ? 

~oQ>m 

Introducing a man, a woman said “His mother is the only daughter of my father”. How is the 

man related to the woman ? 

Son 

52. `{X 1 OZdar, 2001 H$mo gmo_dma Wm, Vmo 31 {Xg§~a, 2001 H$mo gßVmh H$m H$m¡Z-gm {XZ Wm ? 

gmo_dma 

If 1st January, 2001 was Monday, then what day of the week was it on 31st December, 2001 ? 

Monday 

53. _wHo$e gwaoe go b§~m h¡ bo{H$Z amHo$e go N>moQ>m h¡ & amHo$e hare go b§~m h¡ bo{H$Z A_a go N>moQ>m h¡ & CZ_| go g~go 
N>moQ>m H$m¡Z h¡ ? 

{ZYm©[aV Zht {H$`m Om gH$Vm 

Mukesh is taller than Suresh but shorter than Rakesh. Rakesh is taller than Harish but shorter 

than Amar. Who among them is the shortest ? 

Cannot be determined 
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54. {ZåZ{b{IV _| go gd©Wm {^Þ kmV H$s{OE & 

nmam 

Find the odd one out from the following. 

Mercury 

55. 45 N>mÌm| H$s H$jm _| Am`wf H$m a¢H$ D$na go 15 h¡, Vmo ZrMo go Am`wf H$m a¢H$ Š`m h¡ ? 

31 

In a class of 45 students, the rank of Ayush is 15 from the top, then rank of Ayush from the 

bottom is 

31 

56. ZB© {Xëbr _| Am`mo{OV B§{S>`m AmonZ ~¡S>{_§Q>Z 2025 _| nwéf EH$b H$m {IVm~ {H$gZo OrVm ? 

{dŠQ>a EŠgobgoZ 

Who won the Men’s Singles title at the India Open Badminton 2025 held in New Delhi ? 

Viktor Axelsen 

57. â ỳMa {_Zaëg \$moa_ (FMF) 2025 H$hm± Am`mo{OV {H$`m J`m Wm ? 

[a`mX, gD$Xr Aa~ 

Where was the Future Minerals Forum (FMF) 2025 held ? 

Riyadh, Saudi Arabia  

58. OZdar 2025 _| H$m¡Z-gm Xoe A{YH$m[aH$ Vm¡a na {~«Šg g_yh H$m 10 dm± nyU© gXñ` ~Zm ? 

B§S>moZo{e`m 

Which country officially became the 10th full member of the BRICS group in January 2025 ? 

Indonesia 

59. nwUo _| Am`mo{OV CÚ{_Vm {dH$mg gå_obZ 2025 H$m {df` Š`m Wm ? 

CÚ{_`m| H$mo geº$ ~ZmZm newYZ AW©emñÌ _| ~Xbmd bmZm 

What was the theme of the Entrepreneurship Development Conclave 2025 held in Pune ? 

Empowering Entrepreneurs Transforming Livestock Economics 

60. nyd© A_o[aH$s amîQ´>n{V {O_r H$mQ>©a H$m 100 df© H$s Am`w _| {H$g {V{W H$mo {ZYZ hmo J`m ? 

29 {Xg§~a, 2024 

Former U.S. President Jimmy Carter passed away at the age of 100 on which date ? 

December 29, 2024 

61. 15 OZdar, 2025 H$mo ZB© {Xëbr _| Am`mo{OV EH$ g_mamoh _| amîQ´>n{V W_©Z fU_wJaËZ_ Ûmam {g§Jmnwa Ho$ _mZX 
ZmJ[aH$ nwañH$ma go {H$go gå_m{ZV {H$`m J`m ? 

VéU Xmg 

Who was conferred the Honorary Citizen Award of Singapore by President Tharman 

Shanmugaratnam during a ceremony in New Delhi on January 15, 2025 ? 

Tarun Das 
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62. O¡{dH$ {d{dYVm (g§emoYZ) A{Y{Z`_, 2023 H$~ bmJy hþAm ? 

1 Aà¡b, 2024 

When did the Biological Diversity (Amendment) Act, 2023 come into force ? 

1 April, 2024 

63. 5 OZdar, 2025 H$mo, ^maVr` VQ> ajH$ ~b Ho$ {bE {ZåZ{b{IV _| go {H$g {en`mS>© Ûmam Xmo ñdXoer ê$n go 
{S>µOmBZ Am¡a {Z{_©V Vrd« JíVr nmoV (FPV)-A_yë` Am¡a Aj`-bm°ÝM {H$E JE ? 
Jmodm {en`mS>© {b{_Q>oS> 

On January 5, 2025, two indigenously designed and constructed Fast Patrol Vessels (FPVs) – 

Amulya and Akshay – were launched for the Indian Coast Guard by which of the following 

Shipyards ? 

Goa Shipyard Limited 

64. Am{e`m H$m àr{_`a ImÚ Ed§ no` (E\$ EÊS> ~r) ì`mnma àXe©Z B§S>g\y$S> 2025 H$m 8 dm± g§ñH$aU H$hm± Am`mo{OV 
{H$`m J`m Wm ? 
B§{S>`m EŠgnmo{µOeZ _mQ>© {b{_Q>oS>, J«oQ>a ZmoES>m 

Where was the 8th edition of Indusfood Asia’s premier Food and Beverage (F and B) Trade 

Show 2025 organized ? 

India Exposition Mart Ltd., Greater Noida 

65. {Xg§~a 2024 _|, {H$g g§JR>Z Zo “S.A.F.E. ({gŠ`ya, E\$moS>}~b, âbopŠg~b EÊS> E{\${eE§Q>) EH$mo_moS>oeZ :
{d{Z_m©U {dH$mg Ho$ {bE l{_H$ Amdmg” erf©H$ go [anmoQ>© Omar H$s ? 
Z¡eZb BpÝñQ>Q²>`yeZ> \$m°a Q´>¡Ýg\$m°{_ªJ B§{S>`m (NITI) Am`moJ 

In December 2024, which organization released the report titled “S.A.F.E. (Secure, Affordable, 

Flexible and Efficient) Accommodation : Worker Housing for Manufacturing Growth” ? 

National Institution for Transforming India (NITI) Aayog 

66. ^maV-nm{H$ñVmZ Zo df© 1960 _| EH$ g§{Y na hñVmja {H$E Wo & Cg g§{Y H$m Zm_ Wm 
{g§Yw Ob g§{Y 

The India-Pakistan signed a treaty in the year 1960. The name of that treaty was 

Indus waters treaty 

67. br{~`m H$s amOYmZr Š`m h¡ ? 

{Ìnmobr 

What is the capital of Libya ? 

Tripoli 
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68. H$m§JQ>mo ^maV H$s g~go D§§$Mr Mmo{Q>`m| _| go EH$ h¡ Omo {H$g amÁ` _| pñWV h¡ ? 

AéUmMb àXoe 

Kangto is one of the highest peaks of India is located in which State ? 

Arunachal Pradesh 

69. ^maVr` g§{dYmZ Ho$ {H$g AZwÀN>oX Ho$ AZwgma, g§K H$s H$m ©̀H$mar epŠV amîQ´>n{V _| {Z{hV hmoJr ? 

AZwÀN>oX 53 

As per which Article of the Indian Constitution, the executive power of Union shall be vested in 

the President ? 

Article 53 

70. {díd Cn^moŠVm A{YH$ma {Xdg H$~ _Zm`m OmVm h¡ ? 

15 _mM© 

World Consumer Rights Day is observed on 

March 15 

71. A§Vam©îQ´>r` l_ g§JR>Z (ILO) H$m _w»`mb` H$hm± pñWV h¡ ? 

{OZodm 

Where is the headquarters of the International Labour Organization (ILO) located ? 

Geneva 

72. {dO` ñVå^ H$hm± pñWV h¡ ? 

{MÎmm¡‹S>J‹T> 

Vijay Stambh is situated in 

Chittorgarh 

73. XoIZr {H$g ^maVr` amÁ` H$m nma§n{aH$ Z¥Ë` h¡ ? 

Jmodm 

Dekhni is a traditional dance form of which Indian State ? 

Goa 

74. E{e`mB© Iob {H$VZo dfm] _| EH$ ~ma Am`mo{OV hmoVo h¢ ? 

4 df©   

Asian Games are held once in how many years ? 

4 years  

75. M§Ð`mZ-3 {H$g df© àjo{nV {H$`m J`m Wm ? 

2023  

Chandrayaan-3 was launched in which year ? 

2023  
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 {ZX}e (à. g§. 76 go à. g§. 80) : {ZåZ{b{IV OmZH$mar H$m Ü`mZnyd©H$ AÜ``Z H$a| Am¡a àíZm| Ho$ CÎma X| &  
ZrMo {XE JE nmB© MmQ>© nm±M AbJ-AbJ _hrZm| `mZr OZdar, \$adar, _mM©, Aà¡b Am¡a _B© _| {Z{_©V Hw${g©`m| 
(ìhrb Am¡a Am°\$sg) H$s Hw$b g§»`m H$m à{VeV {dVaU Xem©Vm h¡ Am¡a gmW hr {XE JE Q>o~b MmQ>© nm±M AbJ-
AbJ _hrZm| _| {Z{_©V ìhrb Hw${g©`m| H$s g§»`m H$m Am°\$sg Hw${g©`m| go AZwnmV Xem©Vm h¡ & 

Direction (Q. No. 76 to Q. No. 80) : Study the following information carefully and answer the 

questions. 

The given below pie chart shows the percentage distribution of the total number of chairs 

(wheel and office) manufactured in five different months i.e. January, February, March, April 

and May and also given table chart shows the ratio of the number of wheel chairs to office 

chairs manufactured on five different months. 

                                      {Z{_©V Hw${g©`m| H$s Hw$b g§»`m = 5000  

               The Total Number of Chairs Manufactured = 5000 

  

_hrZo 
Months 

 

ìhrb Hw$gu H$s g§»`m H$m Am°\$sg 
Hw$gu Ho$ {Z_m©U go AZwnmV 

The ratio of the number of 

wheel chairs to office 

chairs manufactured 

OZdar/January 2 : 1 

\$adar/February 7 : 3 

_mM©/March 4 : 5 

Aà¡b/April 1 : 1 

_B©/May 3 : 2 
 

76. OZdar _| {Z{_©V Hw$b Hw${g©`m| _| go 20% Hw${g©`m± Zht {~H$s¨ & `{X OZdar _| Zht {~H$s¨ JB© Am°\$sg Hw${g©`m| H$s 
g§»`m Am¡a ìhrb Hw${g©`m| H$s g§»`m H$m AZwnmV 5 : 4 h¡, Vmo OZdar _| ~oMr JB© ìhrb Hw${g©`m| H$s g§»`m kmV 
H$s{OE & 
780 

Out of the total number of chairs manufactured in January, 20% of the chairs are unsold. If the 

ratio of the number of office chairs to wheel chairs unsold in January is 5 : 4, then find the 

number of wheel chairs sold in January. 

780 
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77. _B© _| {Z{_©V ìhrb Hw${g©`m| H$s g§»`m Am¡a OZdar _| {Z{_©V Am°\$sg Hw${g©`m| H$s g§»`m H$m AZwnmV kmV H$s{OE & 

5 : 3 

Find the ratio of the number of wheel chairs manufactured in May to the number of office 

chairs manufactured in January. 

5 : 3 

78. \$adar _o§ {Z{_©V ìhrb Hw${g©`m| H$s g§»`m Am¡a Aà¡b _| {Z{_©V ìhrb Hw${g©`m| H$s g§»`m Ho$ ~rM A§Va kmV H$a| & 

450 

Find the difference between the number of wheel chairs manufactured in February and the 

number of wheel chairs manufactured in April. 

450 

79. `{X OyZ _| {Z{_©V ìhrb Hw${g©̀ m| H$s g§»`m, _mM© _| {Z{_©V ìhrb Hw${g©`m| H$s g§»`m H$m 5/8 h¡ Am¡a _mM© Am¡a OyZ _| 
{Z{_©V Am°\$sg Hw${g©`m| H$s g§»`m H$m AZwnmV 5 : 3 h¡, Vmo OyZ _| {Z{_©V Hw${g©`m| H$s Hw$b g§»`m kmV H$a| & 

550 

If the number of wheel chairs manufactured in June is 5/8th of the number of wheel chairs 

manufactured in March and the ratio of the number of office chairs manufactured in March and 

June is 5 : 3, then find the total number of chairs manufactured in June. 

550 

80. Aà¡b _| {Z{_©V Am°\$sg Hw${g©`m| H$s g§»`m \$adar Am¡a Aà¡b _| {Z{_©V Hw${g©`m| H$s Hw$b g§»`m Ho$ ~rM A§Va H$m 
{H$VZm à{VeV h¡ ? 

50% 

The number of office chairs manufactured in April is what percentage of the difference 

between the total number of chairs manufactured in February and April ? 

50% 

 {ZX}e (à. g§. 81 go à. g§. 85) : {ZåZ{b{IV OmZH$mar H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a ZrMo {XE JE àíZm| Ho$ 
CÎma Xr{OE &  

Direction (Q. No. 81 to Q. No. 85) : Study the following information carefully and answer the 

questions given below. 
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81. `{X H§$ß`yQ>a H$m A§{H$V _yë` CgHo$ H«$` _yë` go 20% A{YH$ h¡ Am¡a XþH$mZXma H§$ß`yQ>a Ho$ A§{H$V _yë` na 15% 

H$s Ny>Q> XoVm h¡, Vmo H§$ß`yQ>a H$m bm^ à{VeV kmV H$s{OE & 

2% 

If the marked price of the computer is 20% more than its cost price and the shopkeeper offers 

a discount of 15% on the marked price of the computer, then find the profit percentage of the 

computer. 

2% 

82. `{X gob \$moZ Ho$ H«$` _yë` Am¡a A§{H$V _yë` H$m AZwnmV 3 : 4 h¡ Am¡a XþH$mZXma Ûmam A{O©V bm^ 1,200 én`o h¡, 
Vmo XþH$mZXma Ûmam Xr OmZo dmbr Ny>Q> kmV H$s{OE & 

800 én`o   

If the ratio of the cost price and marked price of the cell phone is 3 : 4 and the profit earned by 

the shopkeeper is Rs. 1,200, then find the discount offered by the shopkeeper. 

Rs. 800  

83. S>mB{Z§J Q>o~b Am¡a ~wH$ a¡H$ Ho$ A§{H$V _yë` H$m Am¡gV kmV H$s{OE & 

8,500 én`o 

Find the average of the marked price of dining table and book rack. 

Rs. 8,500 

84. ñ_mQ>© dm°M Am¡a ~wH$ a¡H$ H$m {dH«$` _yë` 4 : 5 Ho$ AZwnmV _| h¡ Am¡a ñ_mQ>© dm°M H$m H«$` _yë` 4,800 én`o h¡ & `{X 
XþH$mZXma H$mo ñ_mQ>© dm°M na CgHo$ A§{H$V _yë` H$m 10% bm^ {_bVm h¡, Vmo XþH$mZXma Ûmam ~wH$ a¡H$ na Xr OmZo 
dmbr Ny>Q> kmV H$s{OE & 

250 én`o 

The selling price of smart watch and book rack is in the ratio of 4 : 5 and the cost price of the 

smart watch is Rs. 4,800. If the shopkeeper gets the profit of the smart watch is 10% of its 

marked price, then find the discount offered by the shopkeeper on a book rack. 

Rs. 250 

85. S>mB{Z§J Q>o~b H$m {dH«$` _yë` Am¡a A§{H$V _yë` 4 : 5 h¡ & `{X XþH$mZXma H$mo 25% H$m bm^ {_bVm h¡, Vmo S>mB{Z§J 
Q>o~b H$m H«$` _yë` kmV H$s{OE & 

6,400 én`o  

The selling price and marked price of the dining table is 4 : 5. If the shopkeeper gets the profit 

of 25%, then find the cost price of the dining table. 

Rs. 6,400  



 

VZ9 15 MASTER SET 
 

 {ZX}e (à. g§. 86  go  à. g§. 90) : Xr JB© Vm{bH$m Mma AbJ-AbJ H§$n{Z`m| _| H$_©Mm{a`m| H$s g§»`m Am¡a \$mBZ¡Ýg 
{d^mJ _| nwéf H$_©Mm{a`m| H$m à{VeV, nwéf Am¡a _{hbm H$_©Mm{a`m| H$m AZwnmV Xem©Vr h¡ & 

H§$n{Z`m| _| Xmo AbJ-AbJ {d^mJ \$mBZ¡Ýg Am¡a _mH}${Q>§J h¢ & 

Direction (Q. No. 86 to Q. No. 90) : The given table shows the number of employees in four 

different companies and the percentage of male, ratio of the male to female employees in  

Finance department. 

The companies have two different departments Finance and Marketing. 

H§$nZr/ 
Company 

Hw$b  
H$_©Mm[a`m| H$s 
g§»`m/ 
Total  
number of 
employees 

 

nwéf  
H$_©Mm[a`m|  
H$m %/  
% of the  
male  
employees 

\$mBZ¡Ýg {d^mJ 
_| H$_©Mm[a`m|  
H$m %/ 
% of the 
employees  
in Finance  
department 

\$mBZ¡Ýg {d^mJ 
_| nwéf Am¡a 
_{hbm  
H$_©Mm[a`m|  
H$m AZwnmV/ 
Ratio of the  
male to 
female  
employees  
in Finance  
department 

A 2000 60% 70% 4 : 3 

B 2400 75% 50% 3 : 1 

C 1800 50% 60% 5 : 4 

D 2800 75% 50% 9 : 5 
 

86. g^r H§$n{Z`m| _| nwéf H$_©Mm{a`m| H$s Am¡gV g§»`m Š`m h¡ ? 

1500 

What is the average number of male employees in all the companies together ? 

1500 

87. D _| _mH}${Q>§J {d^mJ Ho$ H$_©Mm{a`m| _| nwéf Am¡a _{hbm H$s Hw$b g§»`m H$m AZwnmV Š`m h¡ ? 

6 : 1 

What is the ratio of the total number of male to female in Marketing department employees  

in D ? 

6 : 1 

88. C _| \$mBZ¡Ýg {d^mJ _| nwéf H$_©Mm{a`m| H$s g§»`m D _| _mH}${Q>§J {d^mJ Ho$ H$_©Mm{a`m| H$s Hw$b g§»`m H$m bJ^J 
{H$VZm à{VeV h¡ ? 

43%  

The number of male employees in Finance department in C is approximately what percent of 

the total number of employees in Marketing department in D ? 

43% 
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89. g^r H§$n{Z`m| _| _mH}${Q>§J {d^mJ _| nwéf Am¡a _{hbm H$_©Mm{a`m| Ho$ ~rM Š`m A§Va h¡ ? 

1680 

What is the difference between the male and female employees in Marketing department in all 

the companies together ? 

1680 

90. g^r H§$n{Z`m| _| \$mBZ¡Ýg {d^mJ _| _{hbm H$_©Mm{a`m| H$s Am¡gV g§»`m Š`m h¡ ? 

470 

What is the average number of female employees in Finance department in all the companies 

together ? 

470 

 {ZX}e (à. g§. 91 go à. g§. 95) : {ZåZ{b{IV OmZH$mar H$m Ü`mZnyd©H$ AÜ``Z H$a| Am¡a {XE JE àíZm| Ho$ CÎma X| & 

{ZåZ{b{IV Vm{bH$m EH$ {ZpíMV df© _| 5 {d{^ÝZ {H$gmZm| Ûmam CËnm{XV \$gbm| H$s Hw$b g§»`m (pŠd§Q>b _|)  
Xem©Vr h¡ & 

Direction (Q. No. 91 to Q. No. 95) : Study the following information carefully and answer the 

given questions. 

The following table shows the total number of crops (in quintal) produced by 5 different 

farmers in a certain year. 

 amB©/ 
Rye 

gagm|/ 
Mustard 

OB©/ 
Oats 

JÝZm/ 
Sugarcane 

Johÿ± / 
Wheat 

amoeZ 

Roshan 
640 

 

920 

 

340 

 

900 

 

300 

 
à^mH$a 

Prabhakar 
480 

 

580 

 

180 

 

600 

 

440 

 
VoOm 

Theja 
750 

 

660 

 

250 

 

560 

 

650 

 
^mJ©d 

Bhargav 
200 

 

1050 

 

280 

 

840 

 

820 

 
H¥$îU 

Krishna 

 

260 

 

760 

 

320 

 

720 

 

630 

  

91. amoeZ Ûmam CËnm{XV Hw$b \$gb|, ^mJ©d Ûmam CËnm{XV Hw$b \$gbm| H$m bJ^J {H$VZm à{VeV h¡ ? 

97%  

The total crops produced by Roshan is approximately what percentage of total crops produced 

by Bhargav ? 

97% 
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92. VoOm Ûmam CËnm{XV Am¡gV \$gb| kmV H$a| & 

574 

Find the average crops produced by Theja. 

574 

93. g^r {XE JE {H$gmZm| Ûmam CËnm{XV amB© Am¡a OB© Ho$ Am¡gV Ho$ ~rM A§Va kmV H$a| & 

192 

Find the difference between the average of Rye produced to that of Oats produced by all the 

given farmers together. 

192 

94. g^r {H$gmZm| Ûmam CËnm{XV Hw$b gagm| Am¡a Hw$b Johÿ± Ho$ ~rM AZwnmV kmV H$a| & 

397 : 284 

Find the ratio between total Mustard produced to that of total Wheat produced by all the

farmers. 

397 : 284 

95. {H$g {H$gmZ Zo Vrgar g~go H$_ \$gb| CJmB© ? 

VoOm 

Which farmer produced third lowest number of crops ? 

Theja 

96. Choose the right answer from the five options given below to frame meaningful sentence. 

Rama / garden / in / the / be / may 

Rama may be in the garden. 

97. Choose the one word substitution from the five options given below. 

A group of persons working on a ship or aircraft 

Crew  

98. Fill in the blank with the correct option. 

What ______________ for breakfast ? 

do you usually have 
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Direction (Q. No. 99 and Q. No. 100) : Read the following passage and answer the questions 

by choosing the right option.  

Time is one of the most valuable resources we have, yet many people struggle to manage it 

effectively. In today’s fast-paced world, students, professionals and even homemakers face 

numerous tasks every day. Proper time management helps individuals prioritize their 

activities, meet deadlines and reduce stress. 

One of the key benefits of managing time wisely is improved productivity. When people plan 

their day and allocate specific time slots for each task, they tend to achieve more in less 

time. It also creates a sense of discipline and responsibility. 

Moreover, effective time management leads to better work-life balance. When tasks are 

completed on time, individuals can make space for leisure, hobbies and family. This not 

only boosts happiness but also improves mental well-being. 

However, poor time management can result in procrastination, missed deadlines and 

increased anxiety. Developing time management skills requires practice and consistency. 

Simple habits like creating to-do lists, setting goals, and avoiding distractions can go a long 

way in making each day more efficient and meaningful. 

99. What is the main purpose of the passage ? 

To highlight the importance of time management 

100. According to the passage, how can individuals start improving time management ? 

By creating to-do lists and avoiding distractions 

 


